< — = =

o FEECCYL> 19 m PRI ECCYL1> 9.1 um
90° tHAE:32682°

-3.147 %3

-16.197 C%
)

180°
-33.75* =
I -05
270° 5 D g
{ x2000(5 ¢ m/cm) x1479(6.8 £t m/cm) x5042(2 £ m/cm)

. mEELse AEE @EE SBNEOE BEE  LEE
- QAERECD . 9.14um RD2 1.102um! 122.68° 4086 um
RS T R SVhEE AEzaE  EMAE

O (FE#E)EMERAECRD_1> | 2CRPC50{E[50 UPR]| -33.75 mm | 6.426 4 m|
@ (H#)EEZAE<RD_2> | 2CRPC50/E[50 UPR]| -16.19 mm| 7.350 4 m|
O (EHE)EEZAECRD 3> | 2CRPC50{E[50 UPR] -3.14 mm| 8.345um|

B E<Round 1> :6483 um
90°

1807 —0°
i
: 270°
| x2000(5 ¢ m/cm)
- BFEfE Lsc B HAE| |
’ OEHME<Round 1> 6.483 4 m, 1‘
| ‘ | |
| RIEERZRERLR T4VREEE| AIEZE

©EEAERD_1> | 2CRPC75{E[50 UPR]| —-33.75 mm|

1 of 2



~ EME<Round2>:7483 um

180° — 0°
270°
———— x2000(5 i m/cm)
AIEE Lsc T
OEME<Round 2> |  7.483pum) ]
AR B4R J1VRERTE | BIEZME

]

)EI$EANE<RD_2> | 2CRPC75&[50 UPR]| -16.19 mm

Amt

A E<Round 3> :8.402 ' m

180° t
270°
t i x2000(5 £t m/cm)
fﬂflffﬁ LSC HAE
HE<Round_3> 8.402 um
RIEEmZPEAER TANBERE | BIEZME

47?4“ -

QIE] ZAE<RD_3> | 2CRPC75{E[50 UPR]| -3.14 mm

2 of 2



